UNIT 13: AUXILIARY VERBS

1.a. Read the sentences below and underline the auxiliary verbs.

   b. Explain the role of each auxiliary.

(1) He is reading in the library.

(2) He is often asked to parties.

(3) Have you read “A Long Way Down” by Nick Hornby?

(4) Do you like poetry?

(5) I don’t live in Plovdiv.

(6) Do sit down.

(7) He can speak several languages.

(8) You may come whenever you like.

(9) You must study very hard.

   c. Divide the underlined auxiliaries into primary and modal. Compare them in terms of structural role and meaning contribution.
2.a. Complete the text with suitable auxiliaries. 

Russell Crowe to toughen up Robin Hood

Sherwood Forest is all a-quiver over news that Russell Crowe is to breathe new life into the legend of Robin Hood. Sir Ridley Scott, 70, the film director, says he … bowing to the medieval legend to recreate the outlaw as an all-action hero. He claims previous screen creations ……… failed to hit the target. Crowe, however, whom Scott …….. just directed in Body of Lies, ……….. spare the tights and avoid the hat with a feather in favour of a tougher performance. Scott, best known for films such as Blade Runner and Gladiator, for which Crowe won an Oscar as best actor, starts shooting the new film, in February. He said he ………… include some myths, especially the fight between Robin and Little John as they try to cross a river from opposite banks. “Otherwise, people ……….. say: ‘where’s the log?’ ” he said. “I ……. also have to keep in the incredible marksmanship. But we …….. push it towards reality.” Scott …….. not …….. using Sherwood Forest itself for filming – it ……… reported earlier this year he …….. simply waiting for green leaves before filming there. Instead, he ………. opted for woodland in the south of England. “I ……. found all my forests around London,” said Scott. “Whoever says there are no forests around London ……… not look. I have found trees which …….. not ……. pollarded for 250 years.” He describes his Robin Hood as a social democrat rebelling once King John introduces taxation after his brother, Richard the Lionheart, ……… bankrupted England to fund the Crusades. 

b. Read the completed text and underline the analytical VPs.

c. Complete the table below and add examples from the text. Follow the example.

	VP gram. categories
	Aux + MV
	Example

	perfect aspect (time correlation)
	have + V-en

	have failed

	passive voice

	
	

	modality
	
	

	progressive aspect
	
	


d. Try to combine the four grammatical categories (1-4) in the same VP and discover the obligatory arrangement of the auxiliary verbs.

OPERATOR

3. a. Make the following sentences negative and interrogative. Then underline the operator, i.e. the auxiliary involved in these operations.

1. Mary has been very enthusiastic about wine lately.

2. Jonathan is preparing dinner for all of us. Please, stay!

3. I love to read comic books late at night, just before dropping off.

4. I will try to forget the rude words you barked at me when we decided to split up.

5. Peter listened intently to the silence surrounding him, hoping for the phone to ring any minute.

b. Discuss the position and function of the operator.

	CONCLUSION
	
	Analytical VPs consist of a main (full, lexical) verb, preceded by……………….. 

Each ……………….. verb plays a structural role and carries certain grammatical information. The maximum number of auxiliaries in an analytical VP in English is ……... 

The first auxiliary, which is used to construct interrogative and negative sentences, is called ………….




PRIMARY AUXILIARIES

Primary auxiliaries are specialized for the expression of mood, progressive aspect and perfect aspect (a.k.a correlation), and voice.

4.a. Complete the missing forms of the primary auxiliaries.

	Base
	Present tense
	Past tense
	-ing participle
	-en participle

	be
	
	
	
	

	have
	
	
	having
	

	do
	
	
	
	done


b. Complete the sentences with suitable primary auxiliaries. Then underline the respective analytical VPs.

(1) Bill must ………..forgotten about the meeting.

(2) My parents must ………. working now.

(3) The assignment must ……… submitted by the end of the month.

(4) I ……… ………. studying English for over five years.

(5) ………. our tests been graded yet?

(6) The driver looks tired. He must …….. …….. driving all night.

(7) This wreck must ……… ………… driven by a lunatic.

c. Describe the grammatical categories of the underlined VPs as shown in the example.

Example:

Bill must have forgotten about the meeting. modal + perfect aspect
	CONCLUSION
	
	Primary auxiliaries (be, have, do) combine with different non-finite forms of the main verb, forming ……………. aspect, …………… aspect (correlation), and ………….. voice, or helping construct ……………, …………..  or emphatic sentences.




MODAL AUXILIARIES

In addition to their structural role in the analytical VP, modal auxiliaries add specific meaning to the verb or the clause, such as ability, permission, obligation, volition or possibility, necessity, probability, certainty, etc.

5.a. Correct the following sentences and discover the rules that have been broken. Explain the characteristic features of the modal auxiliary verbs.

(1) * I can English.

(2) *Who cans give me a lift to the airport?

(3) *We not can deal with this question.

(4)  *Who can to say where Bill is?

(5)  *Do you can tell me his e-mail address?

b. How do modal auxiliary verbs differ from main verbs? 

6.a. Compare the modal verbs in A. and B. and explain how they differ.

(1) A. The coach believes we can win the competition.

B. The coach believed we could win the competition.

(2) A: Can you give me an example?

B: Could you give me an example?

(3) A: They say he may come.

B: They say he might come.

(4) A: Are you sure you can do it?

B: Doing crossword puzzles can be boring.

(5) A: Tom may not be in the US at all.

B: May I borrow your pen?

(6) A: You must follow the doctor’s orders.


B: Peter is absent. He must be ill.

b. Which of the modal auxiliaries add to the meaning of the main verb (root/deontic/personal / intrinsic modality) and which operate on the whole predication (epsitemic/logical /extrinsic modality)? 

7.a. Substitute central modals for the periphrastic modals in these sentences.

(1) Will you be able to come to the celebration?

……………………………………………………….

(2) Drivers are not allowed to park on both sides of the street.

……………………………………………………………………….

(3) I have to be more careful next time.

………………………………………………………………………..
(4) Perhaps she won’t recognize you with this hairstyle.

She……………………………………………………………………..

(5) Answer the doorbell. It certainly is the next-door neighbour.

It…………………………………………….

(6) It’s possible to pay your bills via the Internet.

You……………………………………………………………………

b. Translate the above sentences into Bulgarian.

8. Insert a suitable modal in each gap following the instructions in brackets.

Example:


     All passengers must wear seatbelts. 

(1) …….. there be any doubt that he is guilty?

(possibility)

(2) Some packaging cartons ………………. be stored flat.  (possibility)

(3) Bill is not here yet. He ……. missed the train.    (weak probability)

(4) Thank you. You ……….. go now.                       (permission)

(5) I …………….come and show you my new game.     (intention/volition)

(6) It ………………. be that difficult.        (logical conclusion/certainty, negative)

(7) The car he bought last week …………..cost around 20,000 pounds. (conclusion)

(8) Sam …………..be nearly 90 years old.    (conclusion)

(9) Even a small PC ………..store vast amounts of information.  (capacity)

(10) I wonder if I ……………………speak to your son.  (weak permission)

	CONCLUSION
	
	Nine modal verbs combine with the ……….. infinitive of lexical verbs to build modal analytical VPs. These are the central modals: can, could, may, might, must, shall, should, will, would. Because of their defective paradigm, they are often replaced by …………………. such as: be able to, be allowed to, have to, be going to, etc .

Speakers say that something is certain, possible or likely to happen by means of …………………….. modality. To express ability, permission, volition or obligation in relation to the main verb by means of …………………..modality. 


WEAKENED AUXILIARIES

Some verbs (e.g. suggest, recommend, advise, etc.) and adjectives (e.g. necessary, essential, important, etc.) require the use of weakened auxiliaries, i.e. those with weakened primary meaning and enhanced structural role.

9.a. Complete these sentences with suitable weakened auxiliaries.

(1) The landlord suggested that we …………pay in advance.

(2) Betty is staying in a hostel so that she …………. spend less money.

(3) It is necessary that you …………. study regularly.

(4) There is a danger that they ………miss the boat.

(5) I am sorry that John ……….. have failed.

b. Make one sentence out of two, employing the structural capacity of weakened auxiliaries. Follow the model.

Model: Teachers are to subscribe to professional journals. It is important.

=> It is important that teachers should subscribe to professional journals.

(1) There was no need for you to come. I saw no reason why you did that at all.

(2) You are not allowed to smoke on the premises. There was such an order.

(3) They left without saying a word. We all thought it wrong.

(4) What have I done to you? Why do you behave like that?

(5) It is possible for us to fall in a trap. There is such danger.

(6) She wanted to find a job. She went to the big city.

(7) This contract has to be signed by the end of this week. We agreed on that.

(8) What is the best course of action? We must consult someone about that.

	CONCLUSION
	
	Modal verbs that perform the function of structural prompts have lost their primary meaning and are known as ……………. They are used after certain ……………. and ……………. and have the same meaning as the synthetic subjunctive forms. The most frequent modal verb in such use is ………………… 



ADDITIONAL PRACTICE – UNIT 13
1. Make sentences, using the ordering of auxiliaries and main verbs below. 

	modal
	perfect
	progressive
	passive
	MAIN VERB

	will
	
	
	
	attend

	could
	have
	
	
	affected

	should
	have
	been
	
	typed

	must 
	have
	been
	*being
	torn down

	
	has/had
	
	
	reported

	
	has/had
	been
	
	reading

	
	has/had
	
	been
	consulted

	
	
	is/was
	
	running

	
	
	is/was
	being
	repaired

	
	
	
	is/was
	recovered


2.a. Fill in the blanks to express:

(a) obligation and necessity.

(1) You … pay your membership fee immediately or you will be expelled from the literary society.

(2) You … take pictures here. It’s a flash-free area.

(3) A: … I a visa to go to Canada? B: No, you ….

(4) I  …  wait long at the beauty parlor yesterday.

(5) Who … speak next at our conference?

(6) Thou ……..not lie.

(7) When you reach junction C you ….. to turn right and take A6 .

(b) duty
(1) Lecturers  …(not) to keep students waiting for an exam.

(2) One … ask for permission before borrowing things belonging to others..

(3) Everybody … have read chapter four prior to our next seminar.

(4) You … (not) have lied to your mother. Now she thinks I am bad role model for you. 

(c) advice, admonition and recommendation
(1) You really … see a doctor. You haven’t been feeling well for over a week now. 

(2) You’d… leave me alone now. I don’t want to talk to anyone right now.

(3) You … called to warn us the meeting was cancelled. Now we have wasted two hours of our precious time. 

(d) conclusion or near certainty

(1) A. … there be something wrong with the dishwasher? B: There … be something wrong with it. It’s been making that strange noise for days. 

(2) Everything … be OK. After all we have been planning this for months. 

(3) He …have arrived by now. He called me from the commuter train 45 minutes ago. 

(4) George … have written to the management to complain. I received a summons to appear at the head office tomorrow at 8. 

(5) You … have been staying in front of my house for more than an hour. Your lips are blue and you are trembling.

(6) This  …(not) be Peter ringing, he is in the next room right now, writing the report.

(7) It … (not) have been Jonathan you saw in the pub last night. We had dinner together with our new project manager.  

b. Complete the table below:

Modal meaning




exponents

Obligation, necessity



……………..

Duty





……………..
Advice, admonition, recommendation 

………………
Conclusion or near certainty


………………

3.a. Mark the following modal forms with A for ability, Pos for possibility, Prob for probability and C for capacity.

(1) You can’t be really thinking this. You know better than that.

(2) When Mary completes her course in computer literacy, she will be able to use Internet in her daily work. 

(3) My car will not start. Can you give me a lift? 

(4) He may/can be with her right now. 

(5) They might/could be in the library now. 

(6) I had such a brainwave this morning I could have created the theory of everything.  

(7) Can this shiny diamond be genuine? 

(8) Lesley may have said something to her dad. Whys should he be asking these questions otherwise?

(9) I put the letter as deep into the drawer as it would go. 

(10) That’ll have been my senior manager. No one else looks so authoritative. 

(11) Pete could have forgotten about our meeting today. Did you call to remind him yesterday?

(12) My husband couldn’t be working on such a project on nuclear armament. He is a compulsive pacifist. 

(13) This will be the dictionary you need to complete the exercise on semantic fields. 
(14) Ask the professor in literary history, Mr. Smith. He will know all about this obscure medieval writer.  

b. Complete the table below:

Modal meaning




exponents

Ability




…………………..

Possibility



…………………...

Probability



……………………

Capacity               


……………………

4. Put in suitable verbs (A), adjectives (B) or conjunctions (C).

A.

1. The speech therapist …………that I (should) practice in front of a mirror. 


2. My new CEO ………..that we (should) review the figures together. 

3. The headmaster ……………………that latecomers (should) apologise to the class.

4. My colleagues ………..
me that I (should) participate in charity events more often.

5. I wonder if the travel agency could …………that we (would) stop over in Vienna?

6. Do you ……………that we (should) take sterner measures against smokers?


7. I……….. more people (could) join us in our celebrations of the anniversary.


B.

1. It is ………………..that they (should) refuse us.

2. I was………………that she (should) choose a teaching career.

3. It’s only …………..that people (should) take care of their ageing pets. 

4. It’s ………………..that you (should) work out regularly.


C.

1. We went to bed early…….. we (might) get up in time for the flight. arrive on time.

2. The children were worried ………..the teacher (should) tell their parents. 


3. ……..you (should) need any help, don’t hesitate to call me.         

4. Jonathan went to the station early ………..he (might) miss her.

 
6. Combine using weakened auxiliaries. Follow the model.

Model: He is to take active participation in their preparations. It is essential.


  It is important that he should learn English.

1. He never behaves like this. It’s surprising.

2. It’s here. It’s really quite a coincidence. 

3. He goes without asking for her. It’s impossible.

4. It doesn’t happen in real life. It’s a shame.

5. I’d tell him myself. I considered that it was better. 

6. She became an excellent engineer. It’s not surprising.

7. They were to give her a tourist visa. It was arranged.

8. We want this tradition to continue. We’re anxious.

9. It’s most important. She must have constant medical supervision in the first weeks.

10. I wanted him to be given the job. I was determined.
7. Put in suitable verbs.
Come what it ……, you should be happy she left you. ………. it up to me, I wouldn’t be so worried. It is cruel that I ……… speak like that right now but it is for your own good. I fear lest you ……… get insulted, yet I think you should know the truth. It is all your fault. I suppose you ………….have sensed the crisis coming. However, suffice it to say that things are over now. ……..she to yield to your demands, you wouldn’t respect her any more. Heaven ………..you then! It is necessary that you ………respect your wife, if you …… to have a successful marriage. Be that as it ……., it is too late now. Or is it? If I knew what should best be done in such a situation, I …… tell you. It is sad that things …………… developed as they did. I wish she ………. behaved more reasonably. I am sorry you ………. have such needless trouble for yourself now. It shocks me that you ……….. been so blind. It is not likely that things ……… change. Or is it? What a pity that your marriage ………. end in this disgraceful manner. But don’t despair! More important is it that you …… still care for her enough to forgive her and yourself before it is too late.


8. Translate the following text.
What is the possibility of life on other planets?

In order for life (in the form that is most familiar to us) to evolve on a planet, scientists believe that the planet must be warm enough to contain at least some liquid water, but not so hot that all of the water turns to vapor, as appears to be the case on the planet Venus. It must also contain certain important elements, like carbon and nitrogen, that are necessary to build living cells, and the environment must be calm enough that life has time to develop - the planets in some star systems may be hit so frequently by giant meteorites (causing all the surface water to boil or vaporize) that life never has a chance to form there. Earth is a very special place, in that it appears to be the perfect environment for life to form and flourish. In our own solar system, we see that Mars also had water at its surface long ago, and some very primitive life forms (like bacteria) could have developed there - scientists are still debating whether or not one of the meteorites that came from Mars, ALH84001, has fossil evidence of ancient life on Mars. One of Jupiter's moons, Europa, also might contain liquid water deep beneath its surface, which could harbor primitive life forms. 

Planets outside our solar system could as well have the conditions necessary for life. Our galaxy, the Milky Way, contains at least 200 billion (200,000,000,000) stars, and recent observations with very powerful telescopes suggests that many of the stars in the night sky might have planets orbiting them. There is a famous equation called Drake's Equation that tries to calculate how many stars contain orbiting planets that could have conditions suitable for the development of life. The equation suggests that life forms are very likely to exist on planets in our galaxy or any of the billions of other galaxies in the Universe. Scientists are still working hard to observe earth-like planets around other stars that could harbor life, and to understand the conditions under which life formed and evolved on the ancient Earth. 

Prof. Brian W. Stewar University of Pittsburgh
January 28, 2002
Auxiliary verbs belong to a closed class of function words. They help build the VP, analytically marking various categories of its head – the main verb. Auxiliaries fall into two main groups: primary and modal. They differ both in form and meaning.
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